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150 Questions

Testbook Solution

Que. 1 How many pairs of letters are there in the word "CREATIVE" each of which have as many letters
between them in the word as they have between them in the English alphabetical series?

Correct Option - 1

Three1.
One2.
Four3.
Two4.
More than four5.

Testbook Solution

Que. 2 If the position of the fifth and twelfth letters of the word ‘GLORIFICATIONS’ is interchanged and
likewise the positions of the fourth and fourteenth letters, the third and tenth letter, the second and

eleventh letters and the first and thirteenth letters are interchanged, which of the following will be the twelfth
letter from the right end?

Correct Option - 1

T1.
O2.
R3.
J4.
None of these5.

Testbook Solution

Que. 3 What should come next in the following letter series?
A D F I K N P S U 

Correct Option - 2

W1.
X2.
Y3.
Z4.
V5.

Testbook Solution

Que. 4 Directions: Study the following information carefully to answer the given questions:
Kashish went 15 kilometers to the West from my house, then turned right and walked 20 kilometers. He

then turned East and walked 25 kilometers and finally turning right covered 20 kilometers. How far was he from
his house?

Correct Option - 2

5 kilometers1.
10 kilometers2.
40 kilometers3.
80 kilometers4.
20 kilometers5.



Testbook Solution

Que. 5 How many such digits are there in the number 5236978 each of which is as far away from the beginning
of the number as when the digits are rearranged in ascending order within the number?

Correct Option - 2

None1.
One2.
Five 3.
Two 4.
Seven5.

Testbook Solution

Que. 6 Directions: In the question below are given four statements followed by three conclusions numbered I,
II and III. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
Some teachers are principals.
No principal is a manager.
Some managers are trustees.
No trustees are teachers.
Conclusions:
I. Some teachers are managers.
II. Some teachers are not managers.
III. Some principals are trustees.

Correct Option - 5

Only I follows1.
Either I or III follows2.
Only I & II follow3.
Either I or II follow4.
Only II follows5.

Que. 7 Directions: In the question below are given four statements followed by three conclusions numbered I,
II and III. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
Some statues are rocks.
No rock is a wood.
Some woods are figures.
All figures are made of glass.
Conclusions:
I. Some woods are glass.
II. Some statues are glass.
III. Some rocks are not figures.

None follows1.



Testbook Solution Correct Option - 3

Either I or III follows2.
Only I follow3.
Only I & III follow4.
Only III follows.5.

Testbook Solution

Que. 8 Directions: In the question below are given four statements followed by three conclusions numbered I,
II and III. You have to take the given statements to be true even if they seem to be at variance with

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.
Statements:
Some nails are plates.
Some plates are disks.
All disks are mirrors.
All mirrors are tires.
Conclusions:
I. Some tires are plates.
II. Some tires are nails.
III. Some mirrors are plates.

Correct Option - 4

None follows1.
Either I or II follow2.
Either II or III follow3.
Only I and III follows4.
None of these5.

Que. 9 Direction: In the question below are given three statements followed by three conclusions. You have to
take the given statements to be true even if they seem to be at variance with commonly known facts.

Read all the conclusions and then decide which of the given conclusions logically follows from the given
statements disregarding commonly known facts.
Statements:
Some mango are apple.
All apple are banana.
Some papaya are apple.
Conclusions: 
I. Some banana are papaya.
II. Some mango are banana.
III. All banana are apple.

Only I and III follow1.
Only II follows2.
Only I and II follow3.
Only III follows4.
None follows5.



Testbook Solution Correct Option - 3

Testbook Solution

Que. 10 Directions: In the following question, three statements are given followed by three conclusions I, II
and III. You have to consider the given statements to be true even, if they seem to be at variance with

commonly known facts. Read all the conclusions and decide which of the following logically follows from the
given statements disregarding the commonly known facts.
Statements:
Some Powder are Chalk.
All Powder are Dust.
All Dust are Snow.
Conclusions:
I. No Powder is Snow.
II. Some Dust are Chalk.
III. Some Chalk are Powder.

Correct Option - 5

Only II follows1.
Only III follows2.
Only I and II follow3.
Only I and III follow4.
Only II and III follow5.

Testbook Solution

Que. 11 Directions: In the following questions, a group of letter followed by four combinations of
digits/symbols numbered (1), (2), (3) and (4) is given. You have to find out which of the four

combinations correctly represents the group of letters based on the following coding system and the conditions
that follow and mark the number of that combination as your answer. If none of the combinations correctly
represents the group of letters, mark (5) i.e. 'None of these' as your answer.
Letter Y X D W V Q N F L B U R T O Z H I J A G E C K M P
Digit /

Symbol
Code

€ ® 9 × # £ % 6 β δ 7 8 © ¥ 5 Ω 2 α @ ∞ 4 π 1 3 $

 
Conditions:
i) If the first is a vowel and the last letter is a consonant, then both are to be coded as µ.
ii) If the first letter is a consonant and the last letter is a vowel, then their codes are to be interchanged.
iii) If both the first and the last letters are vowels, then both are to be coded as the first letter.

IFNVDE

Correct Option - 1

26%#92 1.
46%#922.
46%#943.
µ6%#9µ4.
None of these5.



Testbook Solution

Que. 12 KEIMPD 

Correct Option - 2

9423$11.
1423$92.
9423$93.
1423$14.
None of these5.

Testbook Solution

Que. 13 RKPZFI

Correct Option - 4

81$562 1.
81$5682.
21$5623.
21$5684.
None of these5.

Testbook Solution

Que. 14 UBTIZN 

Correct Option - 3

7δ©25%1.
%δ©2572.
µδ©25µ3.
7δ©2574.
None of these5.

Testbook Solution

Que. 15 BAEFNP

Correct Option - 5

δ©46%δ 1.
$@46%δ 2.
µ@46%µ3.
$@46%$ 4.
None of these5.

Que. 16 Directions: Study the following information carefully and answer the questions given below.
Seven friends Priya, Shreya, Julie, Neha, Pallavi, Asha, and Rekha, use a mobile phone of seven

different brands viz. Samsung, Nokia, Oppo, Vivo, Apple, Realme, and Redmi, but not necessarily in the same
order. Also, these seven people are registered on three different networks namely Airtel, Jio, and Idea. At least
two persons are registered on one network.
Julie is registered on Airtel. Asha uses either Nokia or Vivo. Pallavi is registered on one of the networks only
with the person who uses Nokia. Asha is registered on the same network as the Redmi user. Either Priya or
Rekha uses Redmi. Priya and Julie are registered on the same network along with the Oppo user. Shreya is
registered on Jio. The Apple user is not registered on Airtel. Priya does not use Samsung.
Who uses Samsung mobile?

Asha1.



Testbook Solution Correct Option - 3

Rekha2.
Julie3.
Priya4.
Shreya5.

Testbook Solution

Que. 17 Which of the following is correctly matched?

Correct Option - 4

Priya – Jio1.
Asha – Airtel2.
Pallavi – Idea3.
Neha – Airtel4.
Rekha – Jio5.

Testbook Solution

Que. 18 Which among the following combination represents the people registered on Idea network?

Correct Option - 4

Neha and Pallavi1.
Priya and Asha2.
Neha and Rekha3.
Asha and Rekha4.
Asha and Neha5.

Testbook Solution

Que. 19 Pallavi uses which brand of phone?

Correct Option - 1

Apple1.
Redmi2.
Samsung3.
Realme4.
Oppo5.

Testbook Solution

Que. 20 Who uses Oppo?

Correct Option - 2

Priya1.
Neha2.
Asha3.
Julie4.
Shreya5.

Que. 21 Direction: In the following questions, the symbols *, #, %, & and $ are used with the following
meaning as illustrated below:

‘X * Y’ means ‘X is neither less than nor greater than Y’.
‘X # Y’ means ‘X is either greater than or equal to Y’.



Testbook Solution

‘X % Y’ means ‘X is less than Y’.
‘X & Y’ means ‘X is neither less than nor equal to Y’.
‘X $ Y’ means ‘X is not greater than Y’.
Now in each of the following questions assuming the given statements to be True, find which of the conclusion/s
given below them is/are definitely True?
Statements: 
A % B, C & D, F * E # C, D % A
Conclusions:
I. D % B
II. E & A
III. F & D

Correct Option - 4

Only Conclusion I is True.1.
Only Conclusion II is True.2.
Only Conclusion III is True.3.
Both Conclusions I and III are True.4.
Both Conclusions II and III are True.5.

Testbook Solution

Que. 22 Statements: 
H # T, J % S, X & H, T * S

Conclusions:
I. H & S
II. H # J
III. J % X

Correct Option - 3

Only Conclusion I is True.1.
Only Conclusion II is True.2.
Only Conclusion III is True.3.
Both Conclusions I and II are True.4.
Both Conclusions I and III are True.5.

Que. 23 Statements: 
K # L, M % N, M & T, T * F $ L

Conclusions:
I. L % M
II. K * T
III. F & N

Only Conclusion I is True.1.
Only Conclusion III is True.2.
Both Conclusions I and II are True.3.
Both Conclusion II and III are True.4.
None of the Conclusion is True.5.



Testbook Solution Correct Option - 5

Testbook Solution

Que. 24 Statements
Q & P, Y * U, D % P, Y # D

Conclusions:
I. U * D
II. D % U
III. D & U

Correct Option - 4

Only Conclusion I is True.1.
Only Conclusion II is True.2.
Both Conclusions I and II are True.3.
Either Conclusion I or II is True.4.
Either Conclusion I or III is True.5.

Testbook Solution

Que. 25 Statements:
Z * Y, F $ J, K % Z, F & Y

Conclusion:
I. J # Y
II. F & K
III. Z * F

Correct Option - 4

All the conclusions are True.1.
Only Conclusion III is True.2.
Both Conclusions I and II are True.3.
Neither Conclusion I nor III are True.4.
Neither conclusion II nor conclusion III is True.5.

Testbook Solution

Que. 26 Directions: Study the following information carefully and answer the below questions
Eight persons- P, Q, R, S, T, U, V, and W are sitting on the rectangular table in such a way that two

person sits on each side of the table and all of them are facing the centre but not necessarily in the same order.
Q sits third to the left of R. One person sits between R and V. W sits second right of R. One person sits between
P and U. Q and V are not in the same side of the table. U is not an immediate neighbour of R nor T. 

What is the position of Q with respect to T? 

Correct Option - 2

Second right1.
Second left2.
Third right3.
Third left4.
None of these5.



Testbook Solution

Que. 27 Which of the following statement is wrong?
I ) QS are facing each other.

II ) U is in second left of Q.
III ) R is fifth left of U.

Correct Option - 5

Only I is incorrect.1.
Only II is incorrect.2.
Only III is incorrect.3.
Both I and II are incorrect4.
Both I and III are incorrect5.

Testbook Solution

Que. 28 Four of the following five are alike in a certain way and hence form a group which of the following
does not belong to the group?

Correct Option - 5

UW1.
RP2.
QS3.
WP4.
UV5.

Testbook Solution

Que. 29 How many persons sit between R and S? 

Correct Option - 3

One1.
Two2.
Three3.
More than three4.
Cannot be determine5.

Testbook Solution

Que. 30 Which of the following persons sit between P and S? 

Correct Option - 1

UW1.
QR2.
VU3.
TW4.
None of the above5.

Que. 31 Direction: Read the information carefully and answer the questions given below.
A word arrangement machine when given an input of words, rearranges them by following a particular

rule in each step. The following is an illustration of input and steps rearrangement.
Input: 9 cat box 2 65 solve 47 when
Step 1: 65 9 cat box 2 solve 47 when
Step 2: 65 box 9 cat 2 solve 47 when



Testbook Solution

Step 3: 65 box 47 9 cat 2 solve when
Step 4: 65 box 47 cat 9 2 solve when
Step 5: 65 box 47 cat 9 solve 2 when
This is the final arrangement and Step 5 is the last step.
As per the rules followed in the given input, answer the question given below for the following input.
INPUT: denizen 41 denial 18 28 denitrify 5 63 denim denigrate.
How many steps are required to complete the rearrangement?

Correct Option - 2

Eight1.
Nine2.
Five3.
Ten4.
Seven5.

Testbook Solution

Que. 32 Which one the following would be the fourth step of the given input.

Correct Option - 1

63 denial 41 denigrate denizen 18 28 denitrify 5 denim.1.
63 denial 41 denigrate denitrify 5 denim denizen 18 28.2.
denial 63 41 denigrate denizen 18 28 denitrify 5 denim.3.
63 denitrify 41 denigrate 5 denim denizen 18 28 denial.4.
None of the above.5.

Testbook Solution

Que. 33 Which of the following word is seventh from the right end, in Step6.

Correct Option - 3

Denial1.
Denizen2.
Denigrate3.
Denitrify4.
None of these5.

Testbook Solution

Que. 34 What is the sum of the numbers which is fourth from left end in step 2 and fifth from left end in step 9.

Correct Option - 2

701.
692.
903.
684.
735.

Que. 35 What is the difference between 80 and the number which is fourth from right end in step 5?
671.

602.
983.



Testbook Solution Correct Option - 4

624.
615.

Testbook Solution

Que. 36 Directions: Study the following information carefully to answer the given questions:
B # 8 4 Q @ C $ 7 Y J 9 K G $ Y % 8 X * 9 + M E 6 & U 1 T K

In the given arrangement, which element is 7th to the right of 11th element from the right end?

Correct Option - 3

T1.
02.
U3.
94.
&5.

Testbook Solution

Que. 37 In the given arrangement, how many such numbers are there which immediately followed by a letter
and immediately preceded by a symbol?

Correct Option - 1

Two1.
Three2.
More than three3.
One4.
None5.

Testbook Solution

Que. 38 In the given arrangement, what is the sum of all numbers between @ and *?

Correct Option - 3

261.
322.
243.
274.
235.

Testbook Solution

Que. 39 If all the numbers are dropped from the arrangement then which element will be 9th from the left end?

Correct Option - 2

Y1.
K2.
G3.
*4.
@5.

Que. 40 In the above arrangement, how many symbols are there which is immediately followed by a letter but
not immediately preceded by a number?

One1.



Testbook Solution Correct Option - 2

Two2.
Three3.
Four4.
Five5.

Testbook Solution

Que. 41 Directions: In the question below is given a statement followed by two courses of action
numbered I and II. You have to assume everything in the statement to be true and on the basis of

the information given in the statement, decide which of the suggested course of action logically follow(s)
for pursuing.
Statement: A student fails in all the subjects during the final exams because of which he is detained.
Courses of action:
I.  Parents should accuse him of being disinterested in studies. 
II. Parents should find a more able tuition teacher for him.

Correct Option - 4

Only I follows.1.
Only II follows.2.
Either I or II follows.3.
Neither I nor II follows.4.
Both I and II follows.5.

Testbook Solution

Que. 42 Directions: In the questions below are given statements followed by three courses of action numbered
I, II and III. A course of action is a step or administrative decision to be taken for improvement,

follow-up or further action in regard to the problem, policy, etc. Consider the information given in the statement
to be true, decide which of the suggested courses of action logically follow(s) for pursuing.
Statements:
The number of dengue patients has increased drastically in these few months.
Courses of action:
I. Measures must be taken to stop mosquito breeding.
II. People must be made aware of the symptoms of dengue.
III. Everyone should have a mosquito net in their house. 

Correct Option - 5

Only I follows.1.
Only II follows.2.
Only III follows.3.
Both I and II follow.4.
All of the above follows.5.

Que. 43 Direction: In the following question, a given question is followed by information in three statements.
You have to find out the data in which statement (s) is sufficient to answer the question and mark your

answer accordingly.
What is the direction of Y with respect to X?
I. X is south to Z.
II. Y is east to Z.



Testbook Solution

III.W is north to Z.

Correct Option - 3

Statement II alone is sufficient.1.
Statement I and III together are sufficient.2.
Statement I and II together are sufficient.3.
Statement II and III together are sufficient.4.
All the statements together are sufficient.5.

Testbook Solution

Que. 44 Direction: In the following question, a given questions is followed by information in three statements.
You have to find out the data in which statement (s) is sufficient to answer the question and mark your

answer accordingly.
Is A the mother of C?
I. B is the husband of A.
II. C is the daughter of B.
III. D is the brother of C.

Correct Option - 2

Statement I alone is sufficient.1.
Statements I and II together are sufficient.2.
Statement II and III together are sufficient.3.
Statement III is alone sufficient.4.
Statement I and III are sufficient.5.

Testbook Solution

Que. 45 Direction: The following question is followed by information given in three statements. You have to
decide the data in which statement (s) is/are sufficient to answer the question and mark your answer

accordingly.
What is the code for ‘right’ in the coded language?
I. ‘op pq te’ means ‘she is right’ and ‘pq qr sm’ means ‘he is sincere’.
II. ‘nm pu sf’ means ‘they are dancing’ and ‘pt sn pq’ means ‘sky is clear’.
III. ‘op fr pq’ means ‘she is dancing’ and ‘te nm ln’ means ‘they answered right’.

Correct Option - 2

Only I and II are sufficient.1.
Only I and III are sufficient.2.
Only II and III are sufficient.3.
Data is insufficient.4.
None of these.5.

Que. 46 Direction: In the following question, a given question is followed by information in three statements.
You have to find out the data in which statement(s) is sufficient to answer the question and mark your

answer accordingly.
Eight members A, B, C, D, E, F, G and H are sitting around a circular table facing outward. Who sits third to the
right of G?
I. A is to the immediate right of E, who is third to the right of B.
II. G is fourth to the right of H, who is third to the left of A.



Testbook Solution

III. H is not an immediate neighbor of G.

Correct Option - 4

All the statements are required.1.
Only I is sufficient2.
Only II is sufficient.3.
Both I and II together are sufficient.4.
Question cannot be answered even with the information in all three statements.5.

Testbook Solution

Que. 47 Direction: The following question consists of three statements numbered I, II and III. Decide if data
given in the statements are sufficient to answer the questions below.

Six person B, Q, S, X, R and Z are sitting in a row.
Statements:
I. B and Q are at the ends.
II. R and Z are at the centre.
III. S is sitting on the immediate left of B
Who is sitting to the immediate right of Q?

Correct Option - 1

All the three statements are needed1.
Only I and II are sufficient2.
Only I and III are sufficient3.
Only II and III are sufficient4.
Insufficient data5.

Testbook Solution

Que. 48 Directions: In the question, a statement is given, followed by two arguments, I and II. You have
to consider the statement to be true even if it seems to be at variance from commonly known

facts. You have to decide which of the given arguments, if any, is a strong argument.
Statement: High School kids should start earning through makeshift arrangements to meet their personal
expenses.
Argument:
I. Yes, it will enable them to plan budgets and understand the value of money.
II.No, if they start earning early they can buy a house of their own and leave their families.

Correct Option - 1

Only I is strong.1.
Only II is strong.2.
Either I or II is strong.3.
Both arguments are strong.4.
Neither argument is strong.5.

Que. 49 Directions: In making decisions about important questions, it is desirable to be able to distinguish
between strong and weak arguments. Strong arguments are those, which are both important and

directly related to the question. Weak arguments are those, which are of minor importance and also may not be
directly related to the question or may be related to a trivial aspect of the question. The question below is
followed by two arguments numbered I and II. You have to decide which of the arguments a Strong argument is
and which a weak argument is.



Testbook Solution

Statement:
Should promotions in the armed forces be made on the basis of seniority?
Arguments:
I. No, patriotism is the most important attribute for such promotions.
II. No, it would be an injustice to the juniors who are more deserving and suitable for higher positions.

Correct Option - 2

If only argument I is strong.1.
If only argument II is strong.2.
If either I or II is strong.3.
If neither I nor II is strong.4.
If both I and II are strong.5.

Testbook Solution

Que. 50 Directions: One statement is given, followed by two inferences I and II. You have to consider the
statements to be true, even if it seems to be at variance from commonly known facts. You have to

decide which of the given inferences, if any, follows from the given statement.
Statement: 
Ram was asked by the Traffic police to remove his car parked in the narrow bridge.
Inferences:
I. Vehicles should not be parked in the narrow bridge.
II. Ram parked his car where parking was not allowed.

Correct Option - 3

Only I follows1.
Only II follows2.
Both I and II follows3.
Either I or II follows4.
Neither I nor II follows5.

Que. 51 Read the passage given below and then answer the questions given below the passage. Some
words may be highlighted for your attention. Read carefully.

Pakistani officials have threatened to use nuclear weapons should India invade, after India’s new army chief
admitted to clandestine military plans for attacking its neighbour in the event of a crisis.
Three officials in Islamabad have revealed that Pakistan would take all necessary measures to defend itself
should India ever put into action long-rumoured “cold-start” plans to attack Pakistani territory following an event
such as a major terrorist incident. “If ever our national security is threatened by advancing foreign forces,
Pakistan will use all of its weapons — and I mean all of our weapons — to defend our country,” one of the
officials said. The comments came two weeks after Bipin Rawat, the newly appointed head of the Indian army,
acknowledged the existence of “cold start”.
The cold-start strategy is designed to enable an instant response to crisis including attacks by militants launched
from Pakistani soil, and would mean Indian troops entering Pakistan and occupying positions along the border
before Islamabad could prepare or the international community could intervene. The arms build-up in the region
has raised the nuclear stakes.
According to a 2010 diplomatic cable from the then US ambassador in New Delhi released by WikiLeaks, the
plan is designed to enable a rapid response to a crisis without threatening the survival of the Pakistani state — or
triggering a nuclear response. Tensions between the two nuclear-armed neighbours have remained high since last
September’s attack on the Indian army base at Uri in Kashmir, which killed 19 soldiers.



Testbook Solution

India responded with what it called “surgical strikes” across the de facto border with Pakistan. Since then there
have been more minor assaults. India’s National Investigation Agency on Thursday said the militant Islamist
group Lashkar-e-Taiba was to blame for the Uri attack.
This month, meanwhile, Pakistan carried out its first test of a nuclear-capable missile from a submarine. Uri
attack has refocussed Indian attention on how it responds to terror attacks that it believes originate from Pakistan,
such as those in Mumbai in 2008 and at the Indian parliament in 2001.
While India has never before acknowledged the cold-start retaliation doctrine, Pakistan has used rumours of its
existence to justify keeping its defences high on the Indian border, even as its foreign partners have urged it to
redeploy troops to fight Islamists elsewhere. India refrains from nuclear attacks as not only will it lead to
irreparable destruction but also be against India's theory of 'judicious use' of nuclear weapons validated through
several treaties signed by it.
“It is understandable in the wake of the surgical strikes that the Modi government would want to signal to
Pakistan that all options are on the table in the event of another terror attack within India,” said Walter Ladwig, a
lecturer in international relations at King’s College, London. “However, reviving cold start — if that is what has
happened — certainly escalates the rhetoric, and may raise unrealistic expectations domestically about India’s
ability to respond to a new terror attack.”
Mahmud Durrani, a former national security adviser to the Pakistani prime minister, said: “Pakistan already fears
a rapid build-up of India’s conventional weapons. The danger is that with such warnings [of cold start], the
escalatory ladder of going from conventional weapons to nuclear weapons for Pakistan will be shortened.
”Western diplomats in Islamabad, however, doubt whether India would use the cold-start plan.
“Right now, its more psychological,” said one. “But that’s not to say that we shouldn’t worry about this situation.
India and Pakistan both have nuclear weapons. Going by the books, the two nuclear states cannot afford a war,
but there is always uncertainty.”

Why was India so cautious in devising a plan that wasn't so strong so as to trigger a nuclear response, even
though India is well equipped in the nuclear department as well?

Correct Option - 5

Pakistan is a much stronger nuclear power than India.1.
It doesn't want to agitate Pakistan.2.
India can't use its own nuclear weapons in case Pakistan does attack.3.
It's false and India is not afraid of Pakistan's nuclear weapons.4.
A nuclear war will be catastrophic to both countries and will also lead to the breach of several global
nuclear agreements signed by India.

5.

Testbook Solution

Que. 52 How does Pakistan rationalize its attack minded positioning of troops at the border?

Correct Option - 2

It does not want a repeat of Uri attacks.1.
It is being cautious due to the rumoured existence of India's cold start strategy.2.
It wants to prevent terrorists crossing the border.3.
It can use its position to surprise India with its nuclear weapons.4.
It's preparing for a war.5.

Que. 53 What was the cause of such bold statements being issued by Pakistan?
India's surgical strikes.1.

India threatening more strikes in the future.2.
India accepting existence of secret attack plans.3.



Testbook Solution Correct Option - 3

Terrorist attack.4.
Pakistan's new weapons are powerful and it wanted to make India aware.5.

Testbook Solution

Que. 54 How did India respond to the Uri attacks?

Correct Option - 4

Bombing specific Pakistan military areas.1.
Giving out a public statement regarding Lashkar-e-Taiba.2.
Appealing in the International Court of Justice.3.
Conducting attacks on terrorist base camps across the border in a way that results in minimum collateral
damage.

4.

Attacking the PoK.5.

Testbook Solution

Que. 55 What is the cold start strategy?

Correct Option - 5

Getting a headstart over Pakistan in all cases of military nuclear action.1.
Starting a cold war in case of any kind of retaliatory attempt by Pakistan.2.
Giving a cold response to any kind of statement or allegations made by Pakistan.3.
It's a mere rumour and doesn't really exist.4.
Responding immediately to any kind of crisis and moving across the border rapidly, without getting
noticed by either Pakistan or any global body.

5.

Testbook Solution

Que. 56 Why does every decision concerned with Pakistan mention Islamabad?

Correct Option - 2

It's the base of most terrorist camps in Pakistan.1.
It is the capital of Pakistan.2.
It houses all nuclear facilities of the country.3.
Islamabad was the place subjected to the famous surgical strikes.4.
This is not a true fact.5.

Testbook Solution

Que. 57 Which of the following is closest in meaning to the word clandestine as given in the passage?

Correct Option - 4

Attacking1.
Destined2.
Pertaining to the army.3.
Secretive4.
Actual5.

Que. 58 Which of the following is closest in meaning to the word doctrine as given in the passage?
Dogma1.

Principal2.
Related to doctorates.3.



Testbook Solution Correct Option - 1

Foliage4.
Military actions5.

Testbook Solution

Que. 59 Which of the following is most opposite in meaning to the word de facto as given in the passage?

Correct Option - 1

Conjectural1.
Effective2.
Concrete3.
Existent4.
Real5.

Testbook Solution

Que. 60 Which of the following comes closest in meaning to the phrase going by the books as given in the
passage?

Correct Option - 3

Investigating.1.
Not following procedure.2.
Obeying the rules.3.
Being rhetoric.4.
Studying.5.

Testbook Solution

Que. 61 Select the antonym of the given word.
REBELLION 

Correct Option - 4

Disobedience1.
Mutiny2.
Revolt3.
Submission4.
Insurgency5.

Testbook Solution

Que. 62 Choose the word which best expresses the meaning of the given word. 
Collateral

Correct Option - 3

Pathetic1.
Tiresome2.
Guarantee3.
Magnanimous4.
Parallel5.

Que. 63 In the following sentence, four words printed in bold type are given. These are numbered (1),(2),
(3) and (4). One of these words printed in bold might either be wrongly spelt or inappropriate in

the context of the sentence. Find out the word that is inappropriate or wrongly spelt ,if any. The number of



Testbook Solution

the word is your answer. If the words printed in bold are correctly spelt and appropriate in the context of
the sentence then mark (5) ie ‘All Correct’ as your answer.
Water (1)/ borne (2)/ diseases are a major (3)/ concerned (4)/ for people in this region. All correct. (5).

Correct Option - 4

11.
22.
33.
44.
55.

Testbook Solution

Que. 64 In the following sentence, four words printed in bold type are given. These are numbered (1),(2),
(3) and (4). One of these words printed in bold might either be wrongly spelt or inappropriate in

the context of the sentence. Find out the word that is inappropriate or wrongly spelt ,if any. The number of
the word is your answer. If the words printed in bold are correctly spelt and appropriate in the context of
the sentence then mark (5) ie ‘All Correct’ as your answer.
The company is assured (1)/ for a quantum (2)/  jump as it has ventured into Indian markets which have
 excellent (3)/  growth opportunities (4). All correct. (5)

Correct Option - 5

11.
22.
33.
44.
55.

Testbook Solution

Que. 65 In the following sentence, four words or phrases have been printed in bold. One bold part in the
sentence is not acceptable in Standard English. Pick up that part and mark its number. If there

are no errors in the bold parts, mark (5) i.e. No error as the answer.
The Government administration is required to undergo (1) / radicle (2)/ transformations (3)/ for better service
orientation. (4)/ No error (5)

Correct Option - 2

Undergo1.
Radicle2.
Transformations3.
Orientation4.
No error5.

Que. 66 In the following sentence, four words have been printed in bold. One of these words might either
be wrongly spelt or inappropriate in the context of the sentence. Find out the word that is

inappropriate or wrongly spelt, if any. If the words printed in bold are correctly spelt and appropriate in
the sentence context, then mark (5) i.e. ‘No error’ as your answer.
That’s why the outcome of negotaitions with the company and other pharma giants will be crucial to the
country’s battle against the pandemic.

outcome 1.
negotaitions 2.
crucial 3.



Testbook Solution Correct Option - 2

pandemic4.
no error5.

Testbook Solution

Que. 67 In the following sentence, four words or phrases have been printed in bold. One bold part in the
sentence is not acceptable in Standard English. Pick up that part and mark its number. If there

are no errors in the bold parts, mark (5) i.e. ‘No error’ as the answer.
MBA provides practical opportunities (1)via internships, group assignments(2) and individual projects (3) to
check what students learn in the class (4) No Error (5)

Correct Option - 4

Opportunities1.
Assignments2.
Individual3.
Check4.
No Error5.

Testbook Solution

Que. 68 Phrases in the sentences given below are underlined. Choose the option which you feel can
replace all of the underlined phrases.If there is no improvement needed, choose "No

improvement required".
1. The music band crashed out when the lead singer joined another band.
2. Do not enter the old building which has crossing up.
3. Their friendship cried off after that fight.

Correct Option - 2

Close down1.
Come/came apart2.
Cut back3.
Come/came about4.
No improvement required5.

Testbook Solution

Que. 69 Direction: A sentence/part of the sentence is emboldened. Five alternatives are given to the
embolden part which will improve the sentence. Choose the correct alternative and choose the

option corresponding to it. In case no improvement is needed, click the option corresponding to ‘No
improvement required’.
He immediate recalled his promise to Prince Andrew not to go there.

Correct Option - 1

immediately recalled1.
immediate recall of2.
immediate recall3.
immediately recall4.
No improvement required5.

Que. 70 In the following sentence, a part of the sentence is underlined. Below are given alternatives to the
underlined part, which may improve the sentence. Choose the correct alternative. In case no

improvement is needed, choose the alternative that indicates 'No improvement'.



Testbook Solution

There has been continuous efforts to further strengthen bilateral ties with Japan during PM Modi's regime.
A. There have been continuous
B. There have been continuously
C. There has been continuously

Correct Option - 1

Only A1.
Both B and C2.
Both A and C3.
Only B4.
No improvement5.

Testbook Solution

Que. 71 Given below is a sentence that may or may not be grammatically viable, choose the most suitable
alternative that reflects the grammatically correct sentence. If the sentence does not require any

correction, choose option 5. 'none of the above.'  
He used to be playing football professionally but he had to quit because of an injury. It is a tragedy as he was a
good player.

Correct Option - 3

used to be playing1.
to be played2.
used to play3.
to plays4.
None of the above5.

Testbook Solution

Que. 72 Direction: Which of the phrases given below the sentence should replace the word/phrase given
below in bold in the sentence to make it grammatically correct? If the sentence is correct as it is

given and no correction is required, mark 'no correction required' as the answer.
So many stray animals have had no access to clean drinking water and food.

Correct Option - 5

will having1.
have has2.
have3.
had had4.
No correction required5.

Que. 73 Which of the phrases given below the sentence should replace the word/phrase given below in
bold in the sentence to make it grammatically correct? If the sentence is correct as it is given and

no correction is required, mark 'No correction required' as the answer.
The pilferer took away all the furnitures and equipments when the family members went out of the house.

furniture and equipments1.
furniture and equipment2.
furnitures and equipment3.
furniture and an equipment4.
no correction required5.



Testbook Solution Correct Option - 2

Testbook Solution

Que. 74 A sentence/ a part of sentence is underlined. Four alternatives are given to the underlined part 
which will improve the meaning of the sentence. Choose the correct alternatives. In case no 

improvement needed, click the option corresponding to 'No improvement'. 
 
Undernutrition in underdeveloped and developing countries has been marked by malnutrition due to lack of even 
the basic staple nutrients causing diseases like marasmus and kwashiorkor.

Correct Option - 5

have been marked1.
have marked2.
has marking3.
marked by4.
No improvement5.

Testbook Solution

Que. 75 A sentence/ a part of sentence is underlined. Four alternatives are given to the underlined part 
which will improve the meaning of the sentence. Choose the correct alternatives. In case no 

improvement needed, click the option corresponding to 'No improvement'. 

In the monsoon season, the washing away of soil is one of the immediate effects from deforestation.

Correct Option - 4

effects by deforestation.1.
effects for deforestation.2.
effects with deforestation.3.
effects of deforestation.4.
No improvement5.

Testbook Solution

Que. 76 A sentence/ a part of sentence is underlined. Four alternatives are given to the underlined part 
which will improve the meaning of the sentence. Choose the correct alternatives. In case no 

improvement needed, click the option corresponding to 'No improvement'.  
 
The authority responsible for certifications for organically produced foods maintains standards that vary 
depending upon that particular region’s rules and regulations.

Correct Option - 5

maintaining standards1.
maintaing standards2.
maintains standard3.
maintaining standard4.
No improvement5.

Que. 77 Direction: A sentence/ a part of the sentence is underlined. Five alternatives are given to the
underlined part which will improve the meaning of the sentence. Choose the correct alternatives.

In case no improvement needed, click the option corresponding to 'No improvement'.



Testbook Solution

The COVID pandemic has been reminded us that a reliable and uninterrupted energy supply is critical to manage
this crisis.

Correct Option - 5

have been reminded1.
have being reminded2.
reminded3.
No improvement4.
has reminded5.

Testbook Solution

Que. 78 A sentence/ a part of the sentence is underlined. Five alternatives are given to the underlined
part which will improve the meaning of the sentence. Choose the correct alternative. In case no

improvement is needed. Click the option corresponding to "No improvement".
All my friends called me on to congratulate me when I cleared my entrance examination.

Correct Option - 1

called me up1.
called me off2.
called me for3.
called me upon4.
No Improvement5.

Testbook Solution

Que. 79 A sentence/ a part of the sentence is underlined. Five alternatives are given to the underlined
part which will improve the meaning of the sentence. Choose the correct alternative. In case no

improvement is needed, click the option corresponding to ‘No improvement’. 
Scientists are increasing concerned about a new virus that is spreading in Asia.

Correct Option - 4

increase concern1.
increasingly conceited 2.
more increasingly concerned3.
increasingly concerned4.
No improvement5.

Testbook Solution

Que. 80 A sentence/ a part of the sentence is underlined. Five alternatives are given to the underlined
part which will improve the meaning of the sentence. Choose the correct alternative. In case no

improvement is needed, click the option corresponding to ‘No improvement’. 
A majority of studies reveal several inefficiency in the system.

Correct Option - 1

several inefficiencies1.
several inefficiencis2.
several inefficiences3.
several inefficiencs4.
No improvement5.

Que. 81



Testbook Solution

A sentence/a part of the sentence is underlined. Five alternatives are given to the underlined part which
will improve the meaning of the sentence. Choose the correct alternative. In case no improvement is
needed, click the option corresponding to "No improvement".
Having been passed my driving test, I was able to buy my first car. 

Correct Option - 1

Having passed1.
Having being passed2.
I passed 3.
I have been passed4.
No improvement5.

Testbook Solution

Que. 82 Direction: A sentence/a part of the sentence is underlined. Five alternatives are given to the
underlined part which will improve the meaning of the sentence. Choose the correct alternative.

In case no improvement is needed, click the option corresponding to “No improvement”.
My father looks away on anyone who denies his beliefs.

Correct Option - 3

Looks upon1.
Looks back on2.
Looks down on3.
Looks in front of4.
No improvement5.

Testbook Solution

Que. 83 In the following question, out of the four alternatives, select the word opposite in meaning 
to the given word.

Destruction

Correct Option - 4

Shrew1.
Chalice2.
Hirsute3.
Resurgence 4.
Ingenuous5.

Testbook Solution

Que. 84 In the following question, out of the four alternatives, select the word opposite in meaning 
to the given word.

Imperfection

Correct Option - 5

Chagrin1.
Histrionic2.
Nebulous3.
Shrew4.
Nonesuch5.



Testbook Solution

Que. 85 Choose the word MOST SIMILAR in meaning to the given word.

Atrocious

Correct Option - 1

Nefarious1.
Chafe2.
Hirsute3.
Nocturne 4.
Simulacrum5.

Testbook Solution

Que. 86 Directions: Rearrange the following eight sentences/ group of sentences (A), (B), (C), (D), (E),
and (F) in the proper sequence to form a meaningful paragraph; then answer the questions given

below them.

A. Speaking on the issue of bad debt clean up, Rajan called upon banks to change management of stressed
businesses where existing promoters are found to be incapable or unreliable.

B. Rajan said that it is a wonder that bank chiefs have time to devote to the management of the bank
considering the number of constituencies they have to satisfy.

C. Undaunted by vituperative attacks from a member of the ruling party, the governor did not mince words
while calling for more operational flexibility for public sector banks, which account for a third of banking
in the country.

D. Outgoing RBI governor Raghuram Rajan on Tuesday called out the government for continuing to
intervene in the working of public sector banks and flagged areas where a course correction was needed.

E. The governor has asked banks to bring in new owners or new managers who can either be public or
private sector agents.

F. The governor made a case for hiking salaries of public sector bank chiefs, whose remuneration is linked to
that of a joint secretary in the government, stating that they were underpaid as was Rajan himself.

G. These include multiple authorities who oversee them – parliament, the Department of financial services,
The Bank Board Bureau (BBB), the board of the bank, the vigilance authorities, and various regulators
and supervisors including the RBI.

Which of the following should be the SECOND sentence after rearrangement?

Correct Option - 4

A1.
D2.
C3.
F4.
E5.

Testbook Solution

Que. 87 Which of the following should be the THIRD sentence after rearrangement?

Correct Option - 3

B1.
F2.
C3.
E4.
G5.



Testbook Solution

Que. 88 Which of the following should be the FIFTH sentence after rearrangement?

Correct Option - 2

A1.
G2.
C3.
D4.
E5.

Testbook Solution

Que. 89 Which of the following should be the SIXTH sentence after rearrangement?

Correct Option - 1

A1.
B2.
C3.
D4.
G5.

Testbook Solution

Que. 90 Which of the following should be the SEVENTH sentence after rearrangement?

Correct Option - 5

A1.
G2.
C3.
F4.
E5.

Que. 91 Below, a passage is given with five blanks labeled (A)-(J). Below the passage, four options are
given for each blank. Choose the word that fits each blank most appropriately in the context of

the passage, and mark the corresponding answer.
The problem is that banks ___(A)___ reach a vast majority of the rural population; and so the rural poor have
limited access to organized ___(B)___ transparent financial services such as savings, loans, ___(C)___ and
insurance services etc. It is important for them to have access to banking services, especially credit and
insurance, to enlarge livelihood opportunities and to ___(D)___ themselves to take charge of their lives.
 The unorganized sector of lending is believed to be acting as a problem to the growth impetus in these sectors.
In several villages, farmers still go to traditional money lenders like zamindars for ___(E)___ sums of a few
hundred or thousand rupees and get into debt trap for their whole lives. As a result, farmer suicides, bonded
labour naxalism and political and social unrest and on top of it, poor financial management, which ___(F)___ 
had been done smartly would have helped in economic growth of their own self and economy.
Project Financial Literacy of the RBI is one such initiative ___(G)___ - dual purpose. First, financial inclusion of
the rural poor and second, to tap the growth potential in rural markets by volume growth for banks through
edutainment (education + entertainment).Its objective is to ___(H)___  information about the central bank and
general banking ___(I)___ to various target groups like children, women, self help groups etc., using
development communication and increasing the habit of saving in rural poor. Because if in an economy, saving is
more than 30% for 7 ___(J)___  years, the GDP doubles and India can’t ignore the rural sector to increase our
savings.

Which of the following words most appropriately fits the blank labeled (A)? 



Testbook Solution Correct Option - 5

Is not been able1.
Will not been able2.
Has not been able3.
Are been able4.
Have not been able5.

Testbook Solution

Que. 92 Which of the following words most appropriately fits the blank labeled (B)? 

Correct Option - 1

And1.
But2.
So3.
Therefore4.
Because5.

Testbook Solution

Que. 93 Which of the following words most appropriately fits the blank labeled (C)? 

Correct Option - 3

Delivery1.
Installment2.
Remittances3.
Return4.
Allowance5.

Testbook Solution

Que. 94 Which of the following words most appropriately fits the blank labeled (D)? 

Correct Option - 4

Discoourage1.
Ban2.
Reject3.
Empower4.
Revoke5.

Testbook Solution

Que. 95 Which of the following words most appropriately fits the blank labeled (E)? 

Correct Option - 5

Abundant1.
Large2.
Lavish3.
Ample4.
Meager5.

Que. 96 Which of the following words most appropriately fits the blank labeled (F)? 
For1.



Testbook Solution Correct Option - 5

And2.
When3.
How4.
If5.

Testbook Solution

Que. 97 Which of the following words most appropriately fits the blank labeled (G)? 

Correct Option - 5

Under1.
Above2.
Below3.
At4.
Of5.

Testbook Solution

Que. 98 Which of the following words most appropriately fits the blank labeled (H)? 

Correct Option - 3

Collect1.
Gather2.
Disseminate3.
Absorb4.
Accumulate5.

Testbook Solution

Que. 99 Which of the following words most appropriately fits the blank labeled (I)? 

Correct Option - 4

Facts1.
Thoughts2.
Plans3.
Concepts4.
Beliefs 5.

Testbook Solution

Que. 100 Which of the following words most appropriately fits the blank labeled (J)? 

Correct Option - 5

Alternate1.
Interrupted2.
Broken3.
Discontinued4.
Consecutive5.

Que. 101 What will come in the place of the question mark ‘?’ in the following question?
(27 + 498) ÷ 25 = ?

171.



Testbook Solution Correct Option - 3

252.
213.
124.
Other than those given as options5.

Testbook Solution

Que. 102 What will come in place of the question mark?
3.2 of 50 × 25% of ? = 280

Correct Option - 2

61.
72.
93.
84.
55.

Testbook Solution

Que. 103 What will come in the place of the question mark '?' in the following question?
5616 ÷ 18 ÷ 8 = ?

Correct Option - 2

341.
392.
383.
374.
None of these 5.

Testbook Solution

Que. 104 What will come in the place of the question mark ‘?’ in the following question?
56 – (14 × 2) ÷ 7 = ?

Correct Option - 1

521.
702.
263.
404.
905.

Testbook Solution

Que. 105 What will come in place of question mark (?) in the following equation?

(15/11) × 143 + 30 = ?2

Correct Option - 5

121.
252.
103.
84.
155.



Testbook Solution

Que. 106 What will come in place of the question mark ‘?’ in the following question?

Correct Option - 3

= +
23

?

3

10

5

14

251.
702.
353.
454.
None of these5.

Testbook Solution

Que. 107 What approximate value will come in the place of the question mark ‘?’ in the following question?
323.27 ÷ 16.96 × 18.99 = ?

Correct Option - 4

3511.
3242.
4613.
3614.
3415.

Testbook Solution

Que. 108  What approximate value should come in place of the question mark (?) in the following question?

8.01 + (4.99)2 – 26.99 = ?

Correct Option - 1

61.
52.
73.
84.
45.

Testbook Solution

Que. 109 What approximate value will come in place of question mark (?) in the following question?
√441.69 + √1155.99 + √196.06   = ?

Correct Option - 1

691.
712.
873.
514.
795.

Que. 110 Find out the approximate value which should replace the question mark (?) in the following question.

39.96% of (198.99 + 5.992) = ?
941.
962.
953.



Testbook Solution Correct Option - 1

974.
995.

Testbook Solution

Que. 111 What should come in place of question mark (?) in the following question? (You do not have to
calculate the exact value.)

160.4 × 9.864 – 56.321 = ?

Correct Option - 1

15441.
15002.
15643.
15494.
15545.

Testbook Solution

Que. 112 What should come in place of question mark (?) in the following questions? (You do not have to
calculate the exact value.)

122 – ? = √785

Correct Option - 4

851.
1002.
903.
1164.
1025.

Testbook Solution

Que. 113 What should come in place of the question mark '?' in the following number series?
11, 16, 26, 46, ?, 166 

Correct Option - 4

941.
702.
783.
864.
805.

Testbook Solution

Que. 114 What should come in place of the question mark '?' in the following number series?
2, 5, 11, 20, ?, 47, 65

Correct Option - 1

321.
222.
423.
244.
365.



Testbook Solution

Que. 115 What should come in place of the question mark '?' in the following number series?
3, 7, 15, ?, 43, 63

Correct Option - 3

321.
252.
273.
364.
215.

Testbook Solution

Que. 116 What should come in place of the question mark '?' in the following number series?
4, 5, 9, 18, 34, 59, ?

Correct Option - 5

461.
1002.
893.
854.
955.

Testbook Solution

Que. 117 What should come in place of the question mark '?' in the following number series?
10, 29, 58, ?, 146

Correct Option - 1

971.
992.
1023.
874.
925.

Testbook Solution

Que. 118 What should come in place of the question mark '?' in the following number series?
17, 33, 65, 129, ?

Correct Option - 5

1701.
2332.
1653.
2004.
2575.

Que. 119 What should come in place of the question mark '?' in the following number series?
99, 109, ?, 169, 249, 409

991.
1292.
1093.
1194.



Testbook Solution Correct Option - 2
1255.

Testbook Solution

Que. 120 What should come in place of the question mark '?' in the following number series?
408, 204, 102, 51, 25.5, ?

Correct Option - 3

12.51.
8.752.
12.753.
10.754.
None of these5.

Testbook Solution

Que. 121 Direction: Each of the questions given below consists of 2 statements, number I and II respectively.
Please read the questions carefully and decide which of the statement (s) is / are necessary to answer

the questions.
Find the principal
Statement I: Time = 2 years
Statement II: C.I. = Rs. 204, R = 4%

Correct Option - 5

The data in statement I alone is sufficient to answer the question, while the data in statement II alone is
not sufficient to answer the question.

1.

The data in statement II alone is sufficient to answer the question, while the data in statement I alone is
not sufficient to answer the question.

2.

Either statement I or statement II alone is sufficient to answer the question.3.
The data in both the statements I and II is not sufficient to answer the questions.4.
The data in both the statement I and II together is necessary to answer.5.

Testbook Solution

Que. 122 Direction: Each of the questions given below consists of 2 statements, number I and II respectively.
Please read the questions carefully and decide which of the statement (s) is / are necessary to answer

the questions.
Find the two numbers.
Statement I: Average of 4 numbers is 17.
Statement II: The first number is thrice the second number and second number is (1 / 4)th of a third number and
fourth number is 4.

Correct Option - 5

The data in statement I alone is sufficient to answer the question, while the data in statement II alone is
not sufficient to answer the question.

1.

The data in statement II alone is sufficient to answer the question, while the data in statement I alone is
not sufficient to answer the question.

2.

Either statement I or statement II alone is sufficient to answer the question.3.
The data in both the statements I and II is not sufficient to answer the questions.4.
The data in both the statement I and II together is necessary to answer.5.

Que. 123



Testbook Solution

Direction: Each of the questions given below consists of 2 statements, number I and II respectively.
Please read the questions carefully and decide which of the statement (s) is / are necessary to answer the
questions.
Find the numbers.
Statement I: Two numbers are in the ratio 2 : 3.
Statement II: The sum of the square of the numbers is 238.

Correct Option - 5

The data in statement I alone is sufficient to answer the question, while the data in statement II alone is
not sufficient to answer the question.

1.

The data in statement II alone is sufficient to answer the question, while the data in statement I alone is
not sufficient to answer the question.

2.

Either statement I or statement II alone is sufficient to answer the question.3.
The data in both the statements I and II is not sufficient to answer the questions.4.
The data in both the statement I and II together is necessary to answer.5.

Testbook Solution

Que. 124 Direction: Each of the questions given below consists of 2 statements, number I and II respectively.
Please read the questions carefully and decide which of the statement (s) is / are necessary to answer

the questions.
Find the age of youngest brother.
Statement I: The average age of 3 brothers is 15 years.
Statement II: Age gap between each man is 3 years.

Correct Option - 5

The data in statement I alone is sufficient to answer the question, while the data in statement II alone is
not sufficient to answer the question.

1.

The data in statement II alone is sufficient to answer the question, while the data in statement I alone is
not sufficient to answer the question.

2.

Either statement I or statement II alone is sufficient to answer the question.3.
The data in both the statements I and II is not sufficient to answer the questions.4.
The data in both the statement I and II together is necessary to answer.5.

Testbook Solution

Que. 125 The question given below consists of a statement and/or a question and two statements numbered l
and ll given below it. You have to decide whether the data provided in the statement(s) is sufficient to

answer the question.
What is the value of the two digits of the number x ?
l. The sum of the digits of x is 17
ll. The diffirence of the digits of x is 1.

Correct Option - 4

If the data in the statement l alone is sufficient to answer the question.1.
If the data in the statement ll alone is sufficient to answer the question.2.
If the data in statement l alone or statement ll alone is sufficient to answer the question.3.
If the data in both the statements together are not sufficient to answer the question.4.
If the data in both the statements l and ll together are necessary to answer the question.5.

Que. 126



Testbook Solution

Direction: Each of the questions given below consists of 2 statements, number I and II respectively. Please read
the questions carefully and decide which of the statement (s) is / are necessary to answer the questions.
Find the principal.
Statement I: Simple interest @ 4% for 2 years and for 3 years differ by Rs. 64.
Statement II: Time: 5 years

Correct Option - 1

The data in statement I alone is sufficient to answer the question, while the data in statement II alone is
not sufficient to answer the question.

1.

The data in statement II alone is sufficient to answer the question, while the data in statement I alone is
not sufficient to answer the question.

2.

Either statement I or statement II alone is sufficient to answer the question.3.
The data in both the statements I and II is not sufficient to answer the questions.4.
The data in both the statement I and II together is necessary to answer.5.

Testbook Solution

Que. 127 Each of the questions given below consists of a question and two statements numbered I and II given
below it. You have to decide whether the data provided in the statements are sufficient to answer the

question. Read both the statements.
What is the Selling price of Laptop?
I. The ratio of Cost Price and Mark Price is 5 : 8.
II. If the Cost Price is increased by Rs. 200 then the difference between Mark Price and Selling Price becomes
Rs. 100.

Correct Option - 4

If the data in statement I alone are sufficient to answer the question, while the data in statement II alone
are not sufficient to answer the question.

1.

If the data in statement II alone are sufficient to answer the question, while the data in statement I alone
are not sufficient to answer the question.

2.

If the data either in statement I alone or in statement II alone are sufficient to answer the question.3.
If the data given in both statements I and II together are not sufficient to answer the question.4.
If the data in both statements I and II together are necessary to answer the question.5.

Testbook Solution

Que. 128 Find the time taken by a passenger train to reach point B from point A?
Statement I: The passenger train crosses another express train of equal length of 750 meters running

in opposite direction in 75 seconds.
Statement II: The distance between points A and B is 150 km.

Correct Option - 5

Statements I and II together are required to answer the question.1.
Either statement I or statement II alone is sufficient to answer the question.2.
Statement II alone is sufficient to answer the question.3.
Statement I alone is sufficient to answer the question.4.
Both Statements I and II together are not sufficient to answer the question.5.

Que. 129 Each of the following questions consists of 2 statements I and II. You have to determine which of the
following statement/statements is/are sufficient/necessary to answer the question.

Are a and b relatively prime number?



Testbook Solution

I: HCF of a and b is 1.
II: Either a or b is a prime number.

Correct Option - 1

Statement I ALONE is sufficient but statement II ALONE is not sufficient.1.
Statement II ALONE is sufficient but statement I ALONE is not sufficient.2.
BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.3.
EACH statement ALONE is sufficient.4.
Statements I and II TOGETHER are not sufficient.5.

Testbook Solution

Que. 130 Direction: Each question followed by the two statements 1 and 2, we have to determine whether the
statements are sufficient to answer the question or not.

Find the number.
Statement 1: The sum of two digits of the number is 8.
Statement 2: After exchanging the place of the digit, the new number becomes 18 greater than the actual
number.

Correct Option - 5

If the data given in statement 1 alone is sufficient to answer the question whereas the data given in
statement 2 alone are not sufficient to answer the question.

1.

If the data given in statement 2 alone are sufficient to answer the question whereas the data given in
statement 1 alone are not sufficient to answer the question.

2.

If the data given in either statement 1 or in statement 2 alone is sufficient to answer the question.3.
If the data given in both statements 1 and 2 are not sufficient to answer the question.4.
If the data are given in both statement 1 and 2 are necessary to answer the question.5.

Testbook Solution

Que. 131 The selling price of an article is Rs. 14022. If the article was sold at a profit of 23%, Find the cost
price.

Correct Option - 1

Rs. 11,4001.
Rs. 12,8002.
Rs. 13,4003.
Rs. 11,8004.
Rs. 10,0005.

Que. 132 30 men working 5 hours a day can do a task in 16 days. In how many days will 40 men working 6
hours a day do the same task?

A. 12 days
B. 10 days
C. 15 days
D. 18 days
E. 20 days

C1.
B2.
A3.
D4.



Testbook Solution Correct Option - 2
E5.

Testbook Solution

Que. 133 Which one is the correct option when given fraction are arranged in ascending order
1/4, 1/9, 1/2, 1/3 and 1/6

Correct Option - 2

1/6, 1/4, 1/9, 1/2, 1/31.
1/9, 1/6, 1/4, 1/3, 1/22.
1/4, 1/9, 1/6, 1/2, 1/33.
1/6, 1/9, 1/4, 1/3, 1/24.
2/3, 5/6, 1/4, 3/4, 4/95.

Testbook Solution

Que. 134 What should be added to 51234, to make it divisible by 9?

Correct Option - 3

61.
42.
33.
54.
75.

Testbook Solution

Que. 135 In how many ways can be letters of the word ‘APPLE’ be arranged?

Correct Option - 3

7201.
1202.
603.
1804.
None of these5.

Testbook Solution

Que. 136 200 litres of a mixture contains 15% water and the rest is milk. The amount of milk that must be
added so that the resulting mixture contains 87.5% milk is:

Correct Option - 2

45 litres1.
40 litres2.
35 litres3.
30 litres4.
25 litres5.

Que. 137 Which one of the following fractions is the smallest among themselves?
2/31.

3/52.
4/73.
1/24.



Testbook Solution Correct Option - 4
5/75.

Testbook Solution

Que. 138 There are 12 Pink, 16 Brown and 20 black color caps in a box. If a cap is picked at random, what is
the probability of having either a pink or a Black Cap?

Correct Option - 4

6/71.
6/112.
3/83.
2/34.
Answer not known5.

Testbook Solution

Que. 139 Which of the following represents descending order of fractions?

Correct Option - 1

1/2, 1/3, 1/4, 1/5, 1/61.
1/6, 1/5, 1/4, 1/3, 1/22.
1/2, 1/4, 1/6, 1/3, 1/53.
1/5, 1/3, 1/2, 1/4, 1/64.
1/5, 1/3, 1/2, 1/4, 1/75.

Testbook Solution

Que. 140 An amount doubles itself in 10 years with simple interest. What is the rate of interest p.c.p.a.?

Correct Option - 1

101.
152.
253.
Cannot be determined4.
None of these5.

Que. 141 Directions: Study the following table carefully and answer the following questions.

The table gives number of candidate appeared and passed in class 12th exam from five cities A, B, C,
D and E during the period 2000 to 2004

 
 

2000 2001 2002 2003 2004
Appear pass Appear pass Appear pass Appear pass Appear Pass

A 7500 7000 8100 7800 8880 8400 9000 8870 9000 8500

B 5000 4700 5200 4960 5250 4870 6400 6120 7200 6950

C 6250 6050 7500 7240 8100 7790 9600 9420 9870 9640

D 7250 6920 7000 6580 9050 8800 8000 7450 6000 5880

E 8500 8320 9550 9140 8000 7650 5000 4810 9010 8880



Testbook Solution

During the period 2000 to 2004, the total number of students passed in city B is what percent of total students
appeared from the city B in that period?

Correct Option - 4

92%1.
96%2.
90%3.
95%4.
93%5.

Testbook Solution

Que. 142 Ratio of total number of students appeared in the year 2002 from these 5 cities to the total number of
students passed in the year 2004 from the 5 cities.

Correct Option - 2

3876 ∶ 37891.
3928 ∶ 39852.
3282 ∶ 38953.
3882 ∶ 35894.
3765 : 35425.

Testbook Solution

Que. 143 What percent of total appeared students failed in the year 2003 from 5 cities?

Correct Option - 3

4.2%1.
3.0%2.
3.5%3.
4.0%4.
3.8%5.

Testbook Solution

Que. 144 Ratio of number of passed students to failed students from the city C in the period 2000-2004

Correct Option - 4

2008 ∶ 531.
2016 ∶ 572.
2017 ∶ 583.
2007 ∶ 594.
2011 : 565.

Testbook Solution

Que. 145 Average number of students passed each year from these 5 cities during the period 2000 to 2004

Correct Option - 2

38,5781.
36,5482.
35,6783.
37,5674.
35,4765.



Testbook Solution

Que. 146 Directions: Study the following graph to answer the given questions.
Production of two companies P & Q over the years (Production in lakh units)

For Company Q, what is the percent decrease in production from 1995 to 1996?

Correct Option - 4

601.
502.
253.
204.
None of these5.

Testbook Solution

Que. 147 In 1998, the production of Company P is what percent of that in 1999?

Correct Option - 3

651.
1502.
1253.
304.
905.

Testbook Solution

Que. 148 For Company P, in which year is the percentage increase/decrease in the production from the previous
year the highest?

Correct Option - 4

19981.
19952.
19993.
19964.
None of these5.



Testbook Solution

Que. 149 What is the difference in the total production of the two companies for the given years?

Correct Option - 4

26000001.
6900002.
1100003.
11000004.
None of these5.

Testbook Solution

Que. 150 Which of the following is the closest average production (in lakh units) of Company Q for the given
years?

Correct Option - 1

27.61.
3.842.
14.733.
33.54.
55.85.
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